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Universities now do a substantial amount of work under contract for commercial clients. They have been used to charging rather low prices for this, and companies have been used to paying low prices. The need now for realistic pricing is being driven by two developments: commercial activity is now so large in universities that any losses significantly affect their other activities; and management accounting is creeping into universities. This paper discusses how university research should be priced, and why the pricing is different from what academics are used to when dealing with Research Councils.
A common misconception
Companies sometimes still say 
“We were not thinking of paying you more than a nominal amount for this work, because we pay our taxes, and you are paid by the government already”.

Universities are indeed paid by the government, but only to perform specified tasks: teaching degree courses and conducting programmes of basic research, leading to outputs measured in graduates and publications. Universities do these tasks quite well, but they are not profitable, and leave no surpluses. However, most universities engage in more activities than their government income pays for, and expand their staffs accordingly.
A day rate for industrial research
Research Councils pay university researchers an overhead rate of 46% on top of their salary costs
, and this is the overhead rate that they tend to ask for from industrial clients. It is unrealistic. 
We can get an idea of a commercial rate for research by looking at the published financial data for a typical research and technology company, such as The Welding Institute, TWI.
	TWI  (2002)
	 

	Income
	
£26.56m

	Staff
	
481

	Income per person
	
£55.2k

	Income per researcher
	
£110.4k

	220 working days
	
£502 
per day

	65% utilisation
	
£772 
per day

	Salary costs £14.6m1
	
£30.3k 
per person

	Overhead ratio: 
	 £110.4k/£30.3k = 3.64 

	Salary + overhead
	      = 1+2.64

	Overhead rate
	
  264% on salaries


The table shows that TWI must earn £55.2k per employee from its research contracts; this income meets the entire costs of the enterprise. Assume that half of the staff are professionals whose time can be booked to contracts. The rest will be support staff: directors, managers, clerks and so on. The income required per contract-active worker comes to £110.4k, or £502 per working day. 

Now not every day at work can be booked to contracts. Some days are spent on preparing tenders, getting equipment working, training and so on. With a typical utilisation figure of 65%, the day rate comes out to £772. This of course is an average day rate; it will be more for senior staff and less for junior staff.

A commercial overhead rate

This simple approach is widely accepted. It assumes that support staff time, consumables, equipment costs, building costs, and any other costs, are all committed at a relatively steady rate in proportion to researcher time booked on clients’ contracts. 

The daily charge rate is frequently expressed in the form of an overhead on salaries. If the average researcher salary equals the average salary of TWI staff, this comes out to 264%. How do we bridge the gap between this and the academic’s 46%?

It is not down to profit-making by TWI. Profit was less than 3.6% in 2002, and TWI reinvests profits. 
Looking at Leeds. 

Take Leeds University as an example. Its research income totals £71m, made up as follows.
Research Councils
£25m

Charities
£19m

Government
£10m

EU
£5m

Industry – UK
£8m

Other
£4m 

UK industrial work is 11% of research income, or 2.6% of the total income of £300m. Leeds has a 2% surplus, so it could stand to lose this much on its industrial work if it wished. 

An overhead rate for Leeds


	Leeds 
	 

	Income
	
£303m

	Staff
	
7605

	Income per person
	
£40k

	Income per researcher
	
£80k

	220 working days
	
£363
per day

	65% utilisation
	
£559 
per day

	Average researcher salary?
	
£31.25 
each

	£80k/£31.25
	2.56 ( = 1+1.56)

	Overhead rate
	
156%


The income required per person is 72% of that at TWI. We guess wildly that contract research activity costs the same as other activities, that direct workers are 50% of all workers, and that the average researcher salary is that same as the average salary in the university
. We then arrive at a daily rate of £559, and an overhead rate of 156%. 
Reconciling 46%, 156% and 264%
Research council grants do not in fact cover all research costs with a 46% overhead on salary costs. These grants also pay other direct research costs of around 28%. In addition the university receives underpinning research funds from a second government source
 and from the Research Assessment Exercise, together worth perhaps 20% on salaries. The university also from time to time gets an infrastructure grant, worth maybe another 10%. Thus the total overhead on government funded research is more like 100%. 

Vice chancellors have called for universities to charge companies 100% overheads, but this is still too low. Commercial research is quite different in nature from research council work. 
A contract is not a grant
A grant from a research council is given to enable a researcher to follow their own interests, but a research contract with a company is a business undertaking. The client enters into the contract because it needs the work done. In fact the client can sue if their contractor lets them down.
	A research grant
	An industrial contract

	Finishes when the money runs out

Monitoring of output is weak

Peer consensus on what is quality

Researcher sets objectives
Deliverable is a simple report

Funder is there to support universities
	Finishes when contract tasks are fulfilled

Considerable interest in outputs

Client view on what is quality
Project managed by agreement with client

Strenuous reporting and technology transfer requirements

Work comes from a fluctuating market


For these reasons, universities should charge commercial rates for commercial work. 
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In the middle, with government sponsored collaborations, there is a danger of accepting commercial conditions at academic overhead rates.

And it’s not just a matter of time
Most commercial laboratories do not just sell researcher time. They sell a range of services, and they sell technology itself. In a contract, the value of intellectual property, consultancy, data, know how and facility access supplied with the work should be priced in, not just the time worked.
I am grateful to Prof Mike Sanderson and John Witton of Cranfield School of Engineering for many of these ideas.
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� Salary cost usually means salary + national insurance + pension contributions, i.e. around 1.25 x salary.


� To avoid the guessing, a management accountancy system would be useful, but even if an organisation has one, it will not normally publish the findings.


� HEFCE, Higher Education Funding Council
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